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Attempt all questions.

. Make suitable assumptions wherever necessary.

Figures to the right indicate full marks.
English version Authentic

Answer the following

i) Define meter and Kelvin

ii) Define cohesive force & adhesive force.

iii) Write full form of LASER

iv) Define focal power of lens. Give it' units.

v) Define half life time of radio active elements.

i) 1 N= dyne(10°, 10°, 107)

i1) Surface tension tends to surface area of liquid (minimize, maximize)
iii) The number of protons in ¢C'? is
iv) When light enters in some medium from vaccum, it's
(a) velocity (b) Frequency (c) Wave length

does not change.

1) Draw neat diagram of vernier callipers and write formula for it's least count.
i1) State four differences between Nuclear fussion & nuclear fission
1) Derive the formula for surface tension of water.
i1) Define periodic time, wave length & frequency.
OR
1) Distingwish between Longitudinal waves & transverse waves.
i) Find the height of water in capillary tube of radius 0.5mm. Surface
tension of water is 7x10  N/m. angle of contact is O°.
1) What is magnetostriction ? Describe magnetostriction method to generate
ultrasonic waves.
i1) Write sabine's formula for reverberation time explaining all terms. Define
OWwWU.
1) Draw diagram of simple microscope and derive formula for magnifying
power.
i1) Write important uses of lens.
OR
1) Define : Focal length, optical centre and magnifying power of a lens.
i1) State five uses of ultrasonic waves.
1) Explain dispersion of light.
i) Write factors affecting reverberation.

1) Define : Binding energy, mass defect.

i1) Draw Neat & labeled diagram of Nuclear reactor.

1) In a vernier calipers 24 divisions of it's main scale are equavelent to 25
divisions of it's vernier scale. Calculate it's least count if it's main scale is
calibrated in mm.

i1) calculate the focal power of a convex lens having focal length 20 cm.
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OR
1) Explain parent & daughter elements.
i1) Write the laws of reflection of light.
1) Half life time of radio active element is 30 days. Calculate it's average life and
disintegration constant.
i1) Find the speed of light in glass if the refractive index of glass is 1.5. (C=3 x
10® m/s.)
1) Write short note on florescence write four names of florescent material
i1) Write four industrial uses of X-ray.
1) Focal length of convex lens is 2.2 cm. find its magnifying power
i1) How much work will be done in increasing the radios of a soap bubble from 2
cm to 5 cm ? Surface tense of soap solution is 3 x 10 % N/m.
OR
1) Draw neat diagram of ruby laser. Explain its construction.
i1) Explain the terms  optical pumping and population inversion for laser.
i) Volume of a hall is 6000 m®. Find the reverberation time if total absorption is
225 0.W.U.
ii) Calculate the energy of a photon is Mev., having wave length 4.5 x 10° m.
(plank's constant h=6.625 x 10™* Js)

(1)
e v eclle, L vl Ul
AABZd 6oL i 20U sl vl 2L

N

3) Axz-ll Ayel e L.
¥) A=l §15A Ul Al vl 2yl 2154 oLl
W) 24 sl deastl ulan stonl vl unl.
(6) el @ouL YRl
1) IN= dyne (10°, 10°, 107
) yrsciel waldlHl Ysd AUEAL AASAULL...... 5 WAL 538, (AR, B2Ldl)
3) 6C'? 4l WAin-l 2. .
¥) YrdlasiaHl 2l ol HiHH gdl ustad dowdl ... Ui 33512 adl el ( 2ualq,

dzaL dolls))

1
R

)

)
)
)
)

() 1) Az Sellui-l 29 sl el 2 dsll agds wu alde A @il
) sl [Qvige 2 B2 [Aeuwy AR dslad quil.

() ) welldl ysciel M Yot dirdl.
2) adsia, Aol dotsS 1 2uglasll eavay Ul

2l
(&) 1) Eotdld Aol i A2 A0l ARl dslid JUR 53
) sl B o Hlell Hlez &, dl sl well sedl G uind 529 7 well-l yreaiat
7x 107 N/m »i3 2ugisial o° &,

() 1) AoA2rglsudt 21ed 9 ? Wonviglsad-l dell xegiils aZol Gaut sl d qaldl
) wletely A1y e Aoily w4t @il d-ll 635 Astt andl. O.W. UL <l epvat 24l
() 1) el yeuedsl 2l €l as Qe aBdg Yot ARl
2) £alslArL Yo BUAIL Quil.
w24l
(@) 1) v 2uuL Srsdond, ealig i [Qauan aldd
) YRR ALl Ui GUALaL @il
(6) 1) usiag [Acuost Axemdl.
2) wlAE™ AHUA AR sl R0 LAl

() q) vl 2L gl ald, ol Aldd
) =asellar pisex-l a9 wusld el

03
04
04

03

04
03
03
04

03
04
03

04

10

04

03
04
04
03

04
03

04
03
04
03

03
04
03
04

03
04



u-y)

(o)

(1)
(o)

(1)
(o)

(1)
(o)

(1) arflatz 3eluiul you a2y [@Aeol, a1 Bl U [@eol
OR161R 8. %Ll Yo, e Biel el 2iBd €l dl d-ll agau
iy Al3d 8Ll

(2) adlollnn Axul Igdons 20 AL A dl Al Slsa W L.

w1l

) %S dedd i il det [ AHpAll.

) wslalrl YRlad-nl Fay quil.

1) 2401258a deaarl 29%la sl 30 Bay &, d-il #2219 Flax 10

i gulAUdls Al
2) sl asletdnis LU Q. ol YruasiaHl usleHl 4oL 3x10°
H{lLuAAsws Sl dl, SIAHL Ws1AHL 4oL Sedl s ?

1) sl Laluel Bl AMKLCL. AR AL Yelerl AH QUL
) X-ray's <t ¥ AelBls Gualoll dvil,
1) atdlolon st 3 dousd 2.2 AL Gid dl a-l [Quast aldd Al
2) Alop glasl udierdl Bt 2 Al ol aml u Al sa 2 Seg s 539 ugdl ?
Aol glagle Ysdel 3 x 10 N/m.
242l

q)3dlan Al 2a2%9 2l 11 -l UL AnAAlL.
) auR w2 2Adlsa undlal v Sasgin ardle uladind Al
1) s UMWY 56 €000 Bl 8. Al adl oty AU R A s@ WHL Y
O.W.U. &ld dl dtl wlasis a4y Ll
2) A5 SLAHL Ao dous wu x 10 0 HL 9. dl sl wld

Mev i g4l (@issl »12ais h=6.625 x 10°* Js )

B T o

04

03

03
04
04

03

04
03
03
04

03
04
03

04



